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a = [200, 400, 300] 216.0
for i in a: - 432.0
print (i * 1.08) 324.0
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In [7]: from keras.models import Sequential
...: model = Sequential()
: from keras.layers import Dense, Activation

..: model.add(Dense(units=64, input_dim=len(x_train[@])))
.. model.add(Activation('relu'))

: model.add(Dense(units=max(set(y_train)) - min(set(y_train)) + 1))

) ...: model.add(Activation( 'softmax"'))
[ ...: model.compile(loss="sparse_categorical_crossentropy’,
: optimizer="'sgd’,
i caat metrics=["'accuracy'])
.: model.fit(x_train, y_train, epochs=260)
: score=model.evaluate(x_test, y_test, batch_size=1)
...: print(score)
‘ ...: model.predict(x_test)
...: model.summary()
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3/3 === =—=—=—=-=—===—=—=—=—==-==—=—========= - @s SmS/Ste - 1055: 1.8583 - accuracy:
| P y

3/3 [:::::::===========:=:=========] - @s es/step - loss: 1.0530 - accuracy:

3/3 [=======:::::::::::::::::::::::] - @s es/step - loss: 1.0485 - accuracy:

10.3200
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from keras.models import Sequentia

: model = Sequential()
: from keras.layers import Dense, Ac

.. model.add(Dense(units=64, input di
: model.add(Activation('relu'))

.. model.add(Dense(units=max(set(y_tr
: model.add(Activation( 'softmax'))
: model.compile(loss="sparse categor

optimizer="sgd"',
metrics=["accuracy']

: model.fit(x_train, y train, epochs
: score=model.evaluate(x_test, y tes
.. print(score)
: model.predict(x_test)
: model.summary()
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< > main.py + 23 Result

1 age = 18
if

ge <= 11:
print(5e0)
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print(180@)
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@ My Trinkets s11-1

< > main.py + 1
1 age =18

2+ if age <= 11:
ppppp (500)

se:
print(18ee)
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A+ £1T. STOPH &~
main.py + L [ Result

X el Powered by “Dtrinket
* if (x > 208): .
print("big") big
v else: 15
print("small")
s =0
- for i in [1, 2, 3, 4, 5]:
s =5 + i
print(s)
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@ E1THaRN, ROKXD(CRRSNDZ =R

<> +4 B
1 import turtle L J— \S =
2 import random / A N
3
4 #BallYSADEHR /[ I N 7] /
5~ class Ball(turtle.Turtle):
[ def _init_ (self):
7 super().__init_ ()
8 elf.shape( e"
9 elf.color(
10 elf .dx dint(-3, 3)
11 self.dy dint(-3, 3)
12
13 # R—LOEBLEETORGEY ZEET LAY Y K
14~ def move(self): A\ N
15 self.goto(self.xcor() + self.dx, self.ycor() + self.dy)
16 7 l N } [/ / ’\
17 # R— AN ETFORIHE---BE. FAERE
18~ if self.ycor() >= 200 or self.ycor() <= -200:
19 self.dy *= -1 1
20 Fl — \]|/ >
21 # K= AEEORIZS---1B8, FAERE [m} -_ -_
22+ if self.xcor() »= 208 or self.xcor() <= -200: — \ \
23 self.dx *= -1 __I:
24
25 # WEOR—LOA VASAEEBRLYAFZEF

26 balls = [Ball() for _ in range(4p]

RAT 5.

28 # BRL—TTEA—LEWHNT
29~ while True:

E[-Rd for ball in balls:

31 ball.move()

« BT URWEEE. [EITRT> | TET
« JOUSLhEEETBATHBERITIDCEE0O]EE 20



https://trinket.io/python/94d1563844

5.

Palebuse Lok

.
S ARNRETENOEETR
QQ%LEEIE\T

21



Z KA
7 F|

=T A O AT A (D2E31—H) OFAN—

1L 7CE

IEHIFDRR

@D trinket DX DX —T % B <
https://trinket.io/python/2b804abi9a

@ EITHRD, RDOLIICKTRIND Z & =R

import datetime
now = datetime.datetime.now()
print(now)

import datetime

) >

< > main.py

A 4 ? H: v

+ 2 [

1

2 now = datetime.datetime.now()
3  print(now)
4
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https://trinket.io/python/597e5771ff

@ RITRERD, ROLDICKRTEIND T & ZMHER

import math
print(math.sqrt(7))

)ﬂ-

< > main 2

1 import math Powered b rinket
2 print(math.sqrt(7))
3 2.64575131106
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® EITHERD, RDOLHICKREIND T & ZHER
import math
print(3 * 3 * math.pi)

> » v

main.py +2 Result

imE)ort math | Powered b rinket
print(3 * 3 * math.pi) 28. 2743338823
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AEN6 0EDEE, HIE(X (1/2) X 4 X 6 X sin(60)

@ trinket DX D ~_X— % B <
https://trinket.io/python/bdcce27488

RITHRERD, ROLDICEKRIND T & ZHER
import math

print((1/2) * 4 * 6 * math.sin(60 * math.pi / 180))

= () » v 2

< » mainpy + 1 L
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Result

1 import math — i
2 print((1/2) * 4 * 6 * math.sin(60 * math.pi / 180)) 10. 3923048454 et
4
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@ Python 005 LDT 71 IIVRFEF

x = 160

H {Er:"]_r.%?:j't;j_g"] ERX L 7= Python 7 A 7 L

else: ) — K S
5 print("small") DY —=A4 F\%’ _'T?JZ_‘ZJ:

15:=-[:]'~[1 2, 3, 4, 5]: [foo.pyl & WS ZBIDT 7
L S 1 VIR

print(s)

@ Python J OS5 LADRIT 705 LExETF4 21214,

| . . v (BZ 1L, Windows O
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